
5470 5470.5 5471 5471.5 5472
cyclenum

0.5−

0

0.5

1

1.5

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 6102}

5470 5470.5 5471 5471.5 5472
cyclenum

5−

4.5−

4−

3.5−

3−

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 6102}

5470 5470.5 5471 5471.5 5472
cyclenum

2−

1.5−

1−

0.5−

0

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 6102}

5470 5470.5 5471 5471.5 5472
cyclenum

1.5−

1−

0.5−

0

0.5

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 6102}

5470 5470.5 5471 5471.5 5472
cyclenum

6100

6100.5

6101

6101.5

6102

6102.5

6103

6103.5

6104

ru
n

run:cyclenum {run == 6102}

5470 5470.5 5471 5471.5 5472
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 6102}



5470 5470.5 5471 5471.5 5472
cyclenum

76.5−

76−

75.5−

75−

74.5−

us
l_

1X
usl_1X:cyclenum {run == 6102}

5470 5470.5 5471 5471.5 5472
cyclenum

1.6

1.8

2

2.2

2.4

2.6

2.8

3

3.2

3.4

3.6

3.8

us
l_

4a
Y

usl_4aY:cyclenum {run == 6102}

5470 5470.5 5471 5471.5 5472
cyclenum

43

43.2

43.4

43.6

43.8

44

44.2

44.4

44.6

44.8

45

45.2

us
l_

4e
X

usl_4eX:cyclenum {run == 6102}

5470 5470.5 5471 5471.5 5472
cyclenum

17.2

17.4

17.6

17.8

18

18.2

18.4

18.6

18.8

19

19.2

19.4

us
l_

4e
Y

usl_4eY:cyclenum {run == 6102}

5470 5470.5 5471 5471.5 5472
cyclenum

41.5−

41−

40.5−

40−

39.5−

us
l_

12
X

usl_12X:cyclenum {run == 6102}

5470 5470.5 5471 5471.5 5472
cyclenum

6100

6100.5

6101

6101.5

6102

6102.5

6103

6103.5

6104

ru
n

run:cyclenum {run == 6102}



5470 5470.5 5471 5471.5 5472
cyclenum

127−

126.5−

126−

125.5−

125−

us
r_

1X

usr_1X:cyclenum {run == 6102}

5470 5470.5 5471 5471.5 5472
cyclenum

2.2

2.4

2.6

2.8

3

3.2

3.4

3.6

3.8

4

4.2

4.4

us
r_

4a
Y

usr_4aY:cyclenum {run == 6102}

5470 5470.5 5471 5471.5 5472
cyclenum

219.2

219.4

219.6

219.8

220

220.2

220.4

220.6

220.8

221

221.2

221.4

us
r_

4e
X

usr_4eX:cyclenum {run == 6102}

5470 5470.5 5471 5471.5 5472
cyclenum

12

12.5

13

13.5

14

us
r_

4e
Y

usr_4eY:cyclenum {run == 6102}

5470 5470.5 5471 5471.5 5472
cyclenum

45−

44.5−

44−

43.5−

43−

us
r_

12
X

usr_12X:cyclenum {run == 6102}

5470 5470.5 5471 5471.5 5472
cyclenum

6100

6100.5

6101

6101.5

6102

6102.5

6103

6103.5

6104

ru
n

run:cyclenum {run == 6102}



5470 5470.5 5471 5471.5 5472
cyclenum

18960.6

18960.8

18961

18961.2

18961.4

18961.6

18961.8

18962

18962.2

18962.4

18962.6

18962.8

us
l_

co
il1

usl_coil1:cyclenum {run == 6102}

5470 5470.5 5471 5471.5 5472
cyclenum

3091

3091.2

3091.4

3091.6

3091.8

3092

3092.2

3092.4

3092.6

3092.8

3093

3093.2

us
l_

co
il3

usl_coil3:cyclenum {run == 6102}

5470 5470.5 5471 5471.5 5472
cyclenum

4760

4760.5

4761

4761.5

4762

us
l_

co
il4

usl_coil4:cyclenum {run == 6102}

5470 5470.5 5471 5471.5 5472
cyclenum

107.6

107.8

108

108.2

108.4

108.6

108.8

109

109.2

109.4

109.6

109.8

us
l_

co
il6

usl_coil6:cyclenum {run == 6102}

5470 5470.5 5471 5471.5 5472
cyclenum

6593.6

6593.8

6594

6594.2

6594.4

6594.6

6594.8

6595

6595.2

6595.4

6595.6

6595.8

us
l_

co
il7

usl_coil7:cyclenum {run == 6102}

5470 5470.5 5471 5471.5 5472
cyclenum

6100

6100.5

6101

6101.5

6102

6102.5

6103

6103.5

6104

ru
n

run:cyclenum {run == 6102}



5470 5470.5 5471 5471.5 5472
cyclenum

15973.5−

15973−

15972.5−

15972−

15971.5−us
r_

co
il1

usr_coil1:cyclenum {run == 6102}

5470 5470.5 5471 5471.5 5472
cyclenum

2655−

2654.5−

2654−

2653.5−

2653−

us
r_

co
il3

usr_coil3:cyclenum {run == 6102}

5470 5470.5 5471 5471.5 5472
cyclenum

4629.6

4629.8

4630

4630.2

4630.4

4630.6

4630.8

4631

4631.2

4631.4

4631.6

4631.8

us
r_

co
il4

usr_coil4:cyclenum {run == 6102}

5470 5470.5 5471 5471.5 5472
cyclenum

88.4−

88.2−

88−

87.8−

87.6−

87.4−

87.2−

87−

86.8−

86.6−

86.4−

86.2−

us
r_

co
il6

usr_coil6:cyclenum {run == 6102}

5470 5470.5 5471 5471.5 5472
cyclenum

34932

34932.5

34933

34933.5

34934

us
r_

co
il7

usr_coil7:cyclenum {run == 6102}

5470 5470.5 5471 5471.5 5472
cyclenum

6100

6100.5

6101

6101.5

6102

6102.5

6103

6103.5

6104

ru
n

run:cyclenum {run == 6102}



5470 5470.5 5471 5471.5 5472
cyclenum

292.5−

292−

291.5−

291−

290.5−1X
_c

oi
l1

1X_coil1:cyclenum {run == 6102}

5470 5470.5 5471 5471.5 5472
cyclenum

22−

21.5−

21−

20.5−

20−1X
_c

oi
l3

1X_coil3:cyclenum {run == 6102}

5470 5470.5 5471 5471.5 5472
cyclenum

324

324.2

324.4

324.6

324.8

325

325.2

325.4

325.6

325.8

326

326.2

1X
_c

oi
l7

1X_coil7:cyclenum {run == 6102}

5470 5470.5 5471 5471.5 5472
cyclenum

288−

287.5−

287−

286.5−

286−4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 6102}

5470 5470.5 5471 5471.5 5472
cyclenum

41−

40.5−

40−

39.5−

39−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 6102}

5470 5470.5 5471 5471.5 5472
cyclenum

242.5

243

243.5

244

244.5

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 6102}



5470 5470.5 5471 5471.5 5472
cyclenum

201

201.5

202

202.5

203

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 6102}

5470 5470.5 5471 5471.5 5472
cyclenum

66

66.5

67

67.5

68

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 6102}

5470 5470.5 5471 5471.5 5472
cyclenum

18.4−

18.2−

18−

17.8−

17.6−

17.4−

17.2−

17−

16.8−

16.6−

16.4−

16.2−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 6102}

5470 5470.5 5471 5471.5 5472
cyclenum

212

212.5

213

213.5

214

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 6102}

5470 5470.5 5471 5471.5 5472
cyclenum

13

13.2

13.4

13.6

13.8

14

14.2

14.4

14.6

14.8

15

15.2

4e
Y

_c
oi

l6
4eY_coil6:cyclenum {run == 6102}

5470 5470.5 5471 5471.5 5472
cyclenum

16.5−

16−

15.5−

15−

14.5−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 6102}



5470 5470.5 5471 5471.5 5472
cyclenum

237−

236.5−

236−

235.5−

235−12
X

_c
oi

l1

12X_coil1:cyclenum {run == 6102}

5470 5470.5 5471 5471.5 5472
cyclenum

80.5−

80−

79.5−

79−

78.5−12
X

_c
oi

l3

12X_coil3:cyclenum {run == 6102}

5470 5470.5 5471 5471.5 5472
cyclenum

0.5

1

1.5

2

2.5

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 6102}

5470 5470.5 5471 5471.5 5472
cyclenum

6.5

7

7.5

8

8.5

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 6102}

5470 5470.5 5471 5471.5 5472
cyclenum

514.5−

514−

513.5−

513−

512.5−

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 6102}

5470 5470.5 5471 5471.5 5472
cyclenum

6100

6100.5

6101

6101.5

6102

6102.5

6103

6103.5

6104

ru
n

run:cyclenum {run == 6102}
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